OPERACIONS AMB POLINOMIS

Ar Babxillerat CCSS
Fes les operacions seguents amb aquests polinomis:
A(X)=7-x3+10-x2-7-x-3 D(X)= -7-x2+6:x+9 Gx)=x+1
B(x)=-3x3+9-x2+7-x-5 E(x)= -5x-6 H(X)= -x2-6-x+5
C(x)=10-x3+2-x-10 F(x)=10-x+9
@ AX) +B(x) ® 2:-D(x) @ A(-2) -3-D(2) A(X) : G(X)
® AX -B(®X @ 4E(X) -2-F(x) @ -2:x- E() @ AX :HX)
® AX) + D) + E(x) 2-D(X) -5-F(X) @ 2:D(x) +x-F(x) B(X) : G(X)
@ AKX +CK) - EKX) ® E©) E()-F(X) B(x) : H(x)
® BX) -DKX) - F(x) D(3) ® DX)-F(X) @ C():HKX)
Recorda:
Si P(X)=-3-x3-8x+8 Si R(X)=4-x-9 LS
QX)= -2-x2+x+5 SX)=x+1 =
N(X) = x2- 3-x - 10 < &
<8§
£l
P(X) + Q(¥) R(X)-S(x) a f g
E g =
n I
P(x) = -3-x3 -8x +8 R(x) = 4x -9 < § o
+Q() = 2% +X  +5 X S(x) = x  +1 =\ =
-3x3 -2:x2 -7-x +13 4.x -9 (/)
4.x2 -9-x
4.x2 -5.x -9 H
P(x) - Q(x) P(x) : N(x)
P(x) = -3-x3 -8x +8 -3%3 -8x +8| x -3x -10
-QX) = 2:x2 -x -5 3x8  -9x2 -30% -3x -9
-3-x3 +2x2 -9:x +3 / -9x2 -38x +8
+9x2 -27x -90
| -65x -82
Solucions:
@ AWK +BX) =4x+19-x2-8 @ A(-2) -3:D(2) =16
@ AKX -B(X)=10-x3+x2- 14-x + 2 @ -2:x-E(X) =10-x2+12:x
® AWK +DX) +E(X) =7-x+3:x2-6:X @@ 2:D(X) +x-F(x)=24-x2-3:x- 18
@ AX +C(K)-E(X) =17-x3+10-x2- 7 E(X)-F(X) = - 50-X2 - 105-X - 54
(® B -DKX) - F(X) = - 3:x*+ 16:x2 - 9-x - 23 @@ DX)-F(X)=-70-x* - 3:x2 + 144-x + 81

(® 2:D(X) = -14-x2+12:x + 18

@ 4E(X -2:F(X) = -40-x- 42
2-D(X) -5-F(X) = - 14-x2 - 38-X - 27
® EG=-31

D(3) = -36

AX):G(X)=7-x2+3-x-10 i Rx)=7
AX):H(X)=-7-x+32 i R(x)=220-x-163
B(x): G(X) =-3:x2+12:x-5 i R(x)=0
B(X): H(x) =3-x-27 i R(x)=-170-x + 130
C(X): H(X) =-10-x+60 i R(x)=412-x- 310
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